[ N of simulated tracks vs dxy(PV) ]

N of associated tracks (simToReco) vs dxy(PV) |

1) » P -
3] o
© =
= kel
I €10
(=] p=}
£ E
x [%2]
Q c
g 8
=

g 10

1
ge! g v ;
3 5 :
4 o |
0990 -15 -10 -5 0 5 10 415 20 05 =15 -10 510 15 20
TP dxy(PV) (cm) TP dxy(PV) (cm)
—"— DQM_original_1000evt

| N of sin] —"— DQM._fitted4_1000evt
12} |2
<@ o
S =
& B 10
g, g
£ 2
x [%]
Q c
g g
= 2

& 10

10

2 o+
I T
@ 24

0298 -0.6 —0.4 ~0.2

0.2 04 06 08
TP dxy(PV) (cm)

N of simulated tracks vs dz(PV) ]

0 02 04 06 08
TP dxy(PV) (cm)

I N of associated tracks (simToReco) vs dz(PV) I

[

0 )
Qo M a
o : =
€ . °

& 100 e P eeeee g10°
=) E
£ =
4 %]
Q <
I IS

= 103 e 3 10?
24

10

o v
T
@

f!

0.98! . : : ; . 0.95! : : . o
=30 -20 0 10 20 0 =30 -20 -10 O 10 20 30

TP dz(PV) (cm)

N of simulated tracks vs dz(PV) ]

TP dz(PV) (cm)

[N of associated tracks (simToReco) vs dz(PV) |

[
(%] - n
Q a
Q =
E 4 8 3
o 10 g 10
j=2} =
£ E
X [72]
Q c
g 8
= 2
g 10
10
) ' g v
5 : 5
4 : o4
! {,+ T 1
08T 05 0 0 B 05

.5 1
TP dz(PV) (cm)

. 1
TP dz(PV) (cm)



	Contents
	Page 1


